Provincial Department of Education
Northern Province
Provincial Level Year End General Exam - 2013
Grade :- 11 Mathematics - Il Marking scheme

Part A Answers

01)
10 Rs 50,000
a) 100 XRs>50,
ZRS 5000 ittt e e ettt e e e et e e e e te e e e e b aee e e tbee e eeeeetbreeeennne 1Mark
b) Rs 50 000 - Rs 5000
SRS 5,000 ...ttt e e et ettt e aaaaeeas 1Mark
o) Rs 45,000
9
ZRS 5000 ittt et e ettt e e e et e e e et e e e e e bt e e e e tbeee e aeeeetraeeeennes IMark
Rs 5000 x —— x 24
d) 12
100
el ST O PRPP PP RRPPPR 2Marks
e) X S e 2Marks
2
f) Totalintrest = 45xRs 100
= RS 4500 .. i e e e IMark
Monthly installment = 45,000 +4500
9
R 49500
9
SRS 5,500 e ——— 2Marks
02) @) 1) (5] teeeiiie ettt e e e et e e e ettt e e e e tba e e e et e enbaeeeeentaaeeeennes 1Mark
1) DIrawing Graph .......oooooiiiiiiiiiiie ettt e e e e e e e et e e e et aeeeeaes ennes 3Marks
D) 1) (52 ceeiiiiee e e e e e e —— e e e e e e e e e ————aaa e e e e baaaaeeeaaaatraaaaaaens 1Mark
1) I Gt OSSPSR PUPPPPPPRPRN 1Mark
1) T X S et e e e ettt e e e e e e e et a e e e e e e e e et aaaaeeeaeaaaeaeeeaaaanns 1Mark

v) (x-1)-2=y
x2-2x+1-2=y

y=x*-2x-1

0=x>-2x-1

y=0
SOIUIONS = =0.4, 2.4 oo e e e e e ettt e e e e e et et et e e eeeas 2Marks
(V) Y = (X 1) 2 ettt et ettt et e e et e e e 1Mark
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(03) a) 1) 3x+2y=170
4x =3y
i) 3x+2y=170............ ©)

x =30
y=40 [Note:- For direct answer (1) + (1) Marks]

i) Cost of two pine apples =Rs 120
Cost of one pine apple =Rs 60

b) x*-4-x-2
x2-22-(x+2)

= x+2)(x-2)-(x+2)
= x+2)(x-2-1)

= x+2)(x-3)

>

04) a) X+3 n X+2
3 6

7
3
2(x+3)+x+2 7
3
7
3

p =
2X+6+x+2
6

(3x+38) 7x6
X+8)= — —
3

3x+8=14
3x=6

b) i)%x(x+2)x

x(x+2)

l_l
b «+2)

ii) x° +2x =5
2
x*+2x =10
X +2x-10=0

2Marks

2Marks

2Marks

2Marks
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¢c) ¥*+2x-10=0 )
x>+ 2x=10
X2 2 L = L0 L e 1Mark
(D)2 = 11 ettt e e ete e 1Mark
A L 2 AL oo e, 1Mark
x=-1 £3.31
(+)x=2.31
(5) X T (8.3 1) e e e 2Marks
OR
-bi\/b2 —4ac
X o ettt ettt et ta . ateaaa——aa s 1Mark
2a
2
0+ _ _
xX= 2_\/2 4X1X( 10) ........................................................................................ 1Mark
2x1
_ -2++44+40
2
-2+
= 2_—\/ﬂ ........................................................................................................ 1Mark
2
2l-1£4/11
== = -1+3.31
2
X =231 OF (74.31) oo e etaaa e (1) +(1) Mark
~
~
~
~
SO
cl___ 3 O_OSE B Mark
50°10'
~
e
s
s
s
e
p LA 50710°
8m A
B) D NS0TT0 = e 1Mark
AP
AB =AP x tan50°10’
AB=8mx1.1988 =9.5904 m
AB = 0.5 1N oo e 1Mark
. QC
0— =
) tan 30 TSRS TR TE TR PS 1Mark
QC =BC x tan 300
=8mx0.5774 =4.6192m
T LO2 YN et e e ——— et —e e a————aan 1Mark
PQ =PC +CQ
=050 M T4 .02 M= 1421 IMeriiiiiiiee e et 1Mark
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Maths - Il - Marking Scheme



4 b) N\
)
rough diagram............coeeviiiiiiiiiieiiiiee e 1 Mark
N 1:1000
4 N Icm=>10m
in)
B| ) 150° -
o Scale diagram............cccccvvveeriiiireeniiiieeens 1 Mark
A o N
C
B) 33000 e e e e e e e e e e e b —a e e e e e e s e a—aaaaaaeeaaetaaaeeaeannnes 1Mark
b) AC =9.2x10m
S 02N e e e e e e e e e e e e e taaaaaae e e vaeas 1Mark
Part B Answers
06) a)
) Volume of cylindar nr’h
nxa’ x4a
3
AT s 1Mark
1
i) Volume of'cone 5 ar’h
1
—XmTxa Xa
1 TE > oo 1Mark
3
.. . 1
i) Volume ofremaining solid 4ma” - 3 ma
3
12na™ — ma
3
i TE™ oo 2Marks
3
Grade - 11 5 Maths - Il - Marking Scheme



0.835 x 4/64.36
b x = (2.83 )
0.835x+/64.36
g x = Ig B
(2.83)
© QO8I 16436218283 s [Mark
- T-9217+% X1.8086 -2X0.4518 | ... 2Marks
= 1.9217+ 0.9043 =0.9036 ++veeeeerrreeeeirreeeaiirreeeeaiireeeeeeireeeeeireeeeeeirreeeeannaeeas 1Mark
Bx = 1.9224
x = Antilg 71,9224
X T 0,835 e e a e e e e e e 1Mark
X = 0.8 e e e e e e e e e e e eaaaae s 1Mark
07) @) 1) 3MatChStICKS oo e e e e e e e e et raaeaa e 1Mark
) TN = AT (N])d oot e e e eaaaaaee e 1Mark
To = 8+ (8-1)X3 o 1Mark
= 8+7x3
= 8+21
S 2 e e e e e e —— e e e e e e e a—as e eeaaaraaaeas 1Mark
29 Match sticks.
ii) Sn =%[2a £ (0 = 1)) oo 1Mark
15
815:7[2><8+(15—1)><3] ..................................................................................... 1Mark
- b [16+14x3]
2
= 1—5[16 +42]
2
29
= i x 58
2
S A e e e e e e e — e e e e e e e et aaae aaaaraaaeas 1Mark
b) Tn — arn-l ................................................................................................................... 1Mark
T =3¢
BXTT = 200 i e e e rae e e 1Mark
r o= -32,r°=(2)
T (52 oot e e e e e et e e e e e e e e e e ——aaaeeeeaaeeanrraaennee 1Mark
Eirade -11 6 Maths - Il - Marking Schem:a



08) )
C . /
N\
6cm
7
= =
Al' 7 " 8m p B
) Construction OF A ABC ... ....eiiiiiiiiiiee et e e e et e e e e e e eaaaaaeae e 1Mark
A et e e e e e e e et e e e e e e e raaaaaeeaaaaanns 1Mark
BACT 900 ittt e 1Marks
A e e e — e e e e e e e e —a e e e e e e e raaaaaeeaaannes 1Mark
M) BOC = TOCM oottt e e e e ettt e e e e e e s e ataraaaeeaeeesaeeeeeeeaannnes 1Mark
i) Construction ofcircle
AL i e e e e —— e e e e e e e e e ———aaaee e e e e attraeenanraaraaaeaaans 1Mark
BiSECtiON OF B ......oiiiiiiiiiiee et e e e e e e 1Mark
RAAIUS = 6.2CIM ...ttt e e et e e e e et e e e e e e aaaaaas 1Mark
V) ConStruction OftANGENL .........cccuviiieiiiiiieeiiiiee ettt et ee e et e e e ettt eeeebbeeeeeebaeeeeesseeeeennes IMark
V) AP = AC e e e e e e e e e e e e e ———ae e nraaaaaaaaaaaas 1Mark
09)
1) D12 = 10 oo e e e e e e e — it e e e e e e e taraaaaaaea e araeaeeeaannanns 1Mark
i Classinterval | midvalue | frequency | difference frequency x difference vy
€3] (d f X d E5E 8
=== =
0-4 2 3 -12 -36 -—
4-8 6 4 - 8 -32 £
8-12 10 5 - 4 -20 e
12-16 14 8 00 00 3
16 - 20 18 5 4 20 £ =2
20 - 24 22 3 8 24 S2%
24 - 28 26 2 12 24 § § 2
Y =30 Y fd=68 + (-88) ERRE -
T g =
- (:20) 252
mean = assumed mean + difference mean
> fd
- I
= 14 + @ 1Mark
B 30 ar
= 14 - 0.67
= 13.33
Q 13
mean Welght ifsuger = 13 Kg....oooviiiiiiiiiie e IMark
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[ i) 30X 13 X RS D0 oottt ettt ettt eae e ene s 1Mark

SRS BS5T00 ettt e et e e ettt e e e e e bt e e e e tbaee e teeeenbaaeeanes IMark
IV) 1O X 13KE T 130K eiiiieiiiiieeiiie ettt e ettt e e ettt e e e et e e e eebaeeeenanaeee raeeeas IMark
10) g
Practical exam (P) Written exam (W) S Mark
............................ arks
3
) P W e e e e e e e e e e e e naarraaaaaaeaaaaas 1Mark

y / Fail

Written exam Practical exam
1) I 0 8 (S e LT 101 USSR UPPP P 2Marks
e 12 4 4 1
i) 5512 Or S K g s 1Mark

11)
) AAOB, AAOC, ABOD, ACOD ...ttt 2Marks
i) AABO, AACO
AB = AC (ZIVEIL) e ettt ettt et e e ettt e e et e e et ae e e ennbaaeeeenes 1Mark
OB = OC (TAAIOUS) ...ttt e e e e e eabaa e e e e e 1Mark
AO = AO (COMMON SIAC) ..eeeeieeiiiiiiiiie e e et 1Mark
AABO = A ACO ettt et e e s 1Mark

Grade - 11 8 Maths - Il - Marking Scheme



-

12) a) Theorem

i) BOC = AN

. A
IV) BAD

TREOTEIM e

V) ABD = 90°
ACD = 90
..in A ABD,ACD
AD = AD (common)

AB = AC (given)
A ABD = AACD
..BD=DC

b) ) AABM

E isthe mid point of AB.........cccoiiiiiiiinnnnne.
EO// OM (ZIVEN) .o

. AO=0M
i) in A AMC
O is the midpoint of AM

F is the midpoint of AC

 OF /ITMC i

. MC//BF

iiiy BO // MC [BF // MC ]
OC // BM [EC//BM]

. BMCO is a parallelogram
v)
AO =0M = 2x
but OD =DM
OD = DM=x
AD = AO+O0OD
2x +x

AD = 3X e

AD 3x

AO 2x
2AD = 3AO.

....................................................... 2Marks

..................................................... 2 Marks

(AO=0M)..cceeviiiiiiiiiiiiiiiiiccc 0.5Mark

(AF=FC) oot 0.5Mark
....................................................... 1Mark

...................................................... 2Marks
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